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11th Physics (2017 — 18)
(1stQ, #2 Mini Test)
Class No. Name S ’WZ Z &
. ~Ed<F
In calculation problems, describe equations
clearly and systematically enough to show
y \ how to solve the problems.
= = ‘."7
<A
Gravitational acceleration rate g = 9.80 m/s?
Universal Gravitational Constant G=6.67x 1011 N - m2/kg?
Mass of the Earth 5972 x 10% kg
4 pt/question x 13 questions = 52 pt Max 50 pt /[Total 50 pt]
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11thPhysics(2017-18) 1stQ Quiz-2

(1) Find 4, and A, for the vector 4 with magnitude and direction given

by A=3.5mand 0=66" , respectively,

(Equations)

ti

Ax = Acoodé’ = 3,5 covfb

T2 —s ¢ ()

3.8 A dé”

Af{ = Asinbé’

I

(2) Find Band 8 for the vector B with components B, =75.5m and B,

=6.20 m.
(Equations)

B = \jBﬁlf’B‘Jl

:J’U‘,S‘l +4,20

£ 787284 = 208 ()
o 1 (5

- & ’
L“[(?:;)

€. 4748 —> 4 pp

U}

fi
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(1) Answer

Ax =

[ % Ay

Aa = .E‘HZ; A

(2) Answer

B

—
-—

8B =788 2

L4
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11thPhysics(2017-18) 1stQ Quiz-2

(3) For the vectors given in the figure at the
right, determine the vector ¢ = 4 — B by
using the graphical method. Find the
magnitude of the vector (.

(Equations)

= 47,23 —> 412 (m)

(3) Answer Draw inside above.

Magnitude: 4/ 2 g

(4) Determine the net of the four forces,
A, B, C and D by using the graphical
method. Find the magnitude of the net
vector.

(Equations)

2 2
J‘?0.0 + 20,0

38.06 =34, ()

- -
A B
/By E
(4) Answer  Draw inside above.
Magnitude: 3 6 5 / g
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11thPhysics(2017-18) 1stQ Quiz-2

(5) There is a moving walkway that has a speed of 2.7 m/s relative
to the ground to the north. A kid walks on the walkway to the X
backward direction at a speed of 2.2 m/s relative to the walkway. !
What is the velocity (direction and magnitude) of the kid when
another person standing on the ground observes?

Vne = 227 (mfs)

Uen = =22 Coee/l5 )

quﬁf: Uk * mﬁ‘
=27 t(-2.2)

= 0.§ (™/)

(5) Answer

0.5 " tolonat (7¢7% )
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(6) You are swimming at 2.4 m/s relative to water. You point at an
angle of 31° upstream on a river flowing 1.6 m/s.” What is your velocity

(magnitude and direction relative to the ground?

(Equations)
(%9

vaa = 2.‘;’-,4&‘:4 S_?b

o - —

Voo = Upw * U:m,

UPG'X: ’Z)Pw:c'fz);’&x
-l b * 2.4 Cov\(‘?b

-—

-0,3639

1l

Ubay = Upwy * Viey
2 ¢ A 887 + 0

z.087

fi

Ure= | Upgx + Vg

\ﬁ-‘o‘,swﬂ)a**('2-"5‘7)l

= 208pP — 2,/
: [ 2.()1‘7 _ &
é /tm«(_o‘:“u)j =-72.97

0.0 -~ 79977 8o
7 & e E
= 24,0 —_ /0 ‘
g“"/r:'-"
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(6) Answer

2.1

-4

m/s

[0 ol evrnstadicinn
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11thPhysics(2017-18) 1stQ Quiz-2

(7, 8) You pick up a ball and throw it to second base. The ball is

thrown horizontally at point P, with a speed of 21 m/s, directly toward N SR S =
point A.  When the ball reaches the second baseman 0.46 s later, it is e o 2 ﬁ"'&“
caugbt at poir_lt B. et B
7 (8) Find the distance between P and A.
3 (9 Find the distance between A and B.
> X

(Equations)

x = UVt =211

§

15

2 x0.4¢é
9. 64 —> 9.7 (™)

(7) Answer
?.7 m
(8) Answer
/0O om
1012312017 By Tohei Moritani
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11thPhysics(2017-18) 1stQ Quiz-2

(9~11) A golfer tees off at an initial speed of 35.8 m/s and at an angle of
420° above the horizontal from a height of 12.0 m.
(9) How long does the ball take to reach the highest point?

(10) What is the maximum height of the projectile from the ground? The ground

is assumed to be flat.

(11) How long does it travel before it hit the ground?
(Equations)

(?) U;x:%c@,qg :35:&60-64-2.0
= 248,60 ()
Uy = Voauil = 3580w 42,0
=23.9885 (™)
Viy 23958 o
1}3’-'?).,3-—?75 : 7“@1;0 t = 1 7.580 L1 FE
—> 2, 4% (s)
A 1 -
() vy -Uy=-2§d, Vsy=0° N
% _ 23. 70§ - o
- 23.956 = -2x2%0~§ T k9o  272F ()
29,28 + /2,6 < 4/,358 —> G/, 3 (o)
Cil) i 7 t’-
d= U;a‘t -7 g <
2 9) Answer
-‘/Z = 2595‘5‘i e 4?0 t 2’ QL(;l s ('fa'
" - 4389l - 2¢kp <o
t - 4‘9391'!9‘,&??&*‘ Ux2, ¢ (10) Answer 2
2 L. 3 e (62/
« §PFP L $ Pe s
- = 8347 53¢
(11) Answer P &h_ }
d=fat’ 2.90242,uyy o W
R A N (T
t=2.902 - {35

7
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(12) A force of 23 N is acted on a 0.70 kg dynamic cart on a frictionless level
surface, where a weight is placed on the cart. If an acceleration of 11.0 m/s? is
produced, what is the mass of the weight?

(Equations)

FTF=mRQ

237_-(9,70 «m)x /[0

(12) Answer

/¢ 58 (48%)

(13) A satellite with a mass of 480 kg is in a circular orbit about the
Earth. The radius of the orbit is 35,000 km (3.5 x 107 m) as measured
from the center of the Earth. Find the gravitational force between the
satellite and the Earth.

(Equations)

m, Mz
F -Gt
wif] 450x 5‘??2"’/0‘1#
= 6.&72’/0 X

(3,5‘)((0?)2

-l v2Y4 i

6,675 480X 8972
332

"

< 5b) x 10 =561 —> Jb0 (N

(13) Answer

/b0 N 3t/
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11thPhysics(2017-18) 1stQ Quiz-2

Trigonometric Table

7| R i [ RE o) | 0 (tany | [T i) | 50 (con) | 0 () : : - NN -
0.0° 00040 1.0 L0000 9950 0.3827 09290 01142 1l 155 (~in) 5 {eas) | B (tan) 4 A (sin) | R9n (eos) TR (tam)
50| 07071 | 0071 | tewoo | [675 | 00230 | oas27 | 24112
05 | opos7 | vosos | ooest | L2300 | oaeor | ooz | 0d2e5 . . N o : . s
10 | ootrs | voesss | ooms ||zase | vaosr | eotrt | o.gass 455" | 0is3 | 07009 | 116 || 6807 | og2r2 | oatde | 24ma
i | oo2cz | w9097 | ooz || 21000 | oaoer | nois | o.ase 16.0° 4 07193 | 06947 | L0355 || 685° | 0.9304 | 03665 | 2.5386
200 | 00349 | 09991 | 00319 || 245 | ednz | ogoo | 0457 4657 ¢ 07254 | 06881 | LOSIR |1 60.0° | 09336 | 03584 | 26051
550 | ovase | weoeo: | owase |Easee | oanse | nstes | ddees 470" | 073l | 06820 | 1072 || 695° | 09367 | 03502 | 26746
475° | 07373 | o6vs6 | Leo13 || 7000 | 09307 | ease0 | 274
307 | 00323 | 0.99s6 | 00324 || 255° | od300 | 09026 | 04770 ‘ _ N
558 oo | moost | operz |loses | vaser | oeess | obaier 4807 | 07431 | o66or | 11106 | f705° | 09126 | 03338 | 2.8239
a0c | oosos | ooots | vocos || 250 | odse2 | asese | 0.4986 485° | 0.7190 | 06626 | 11303 |]71.0° | 00455 | 03236 | 2.9042
45| 00785 | 09969 | 0077 || 27.0° | 04340 | 08010 | 0500 4000 QTMT | D8SGL | LASO4 | |TLOC | 06483 | 03178 | 29887
500 00872 | 09962 | ousTs | [275° | odel7 | 08870 | 0.5206 4957 07604 | 06494 | LITOS || 720° | 09511 | 0.3090 | 3.0777
500° | 0.7660 | 06428 | 1918 |f725° | 09537 | 03007 | 31716
55°| 00058 | 09954 | 00963 || 2800 | o4cen | 0ss20 | 05317 Ao . . . )
6.0° | 01045 | 0995 | oanst |l e85 | onazrz | 08788 | 0.5430 50671 OTTI6 | 06361 ] 2151 | p7R07 | 09567 | 02994 | 22700
65° | onzz | 00036 | o130 || 2007 | oasis | 087G 51.0° | 07771 | 06203 | 12340 || 785° | 09388 | 02840 | 33759
70° | 01219 | osezs | oaoes || 2050 | o4s24 | o704 5150 | 07826 | 0.6225 | 1572 | [ 700 | ooez | oomse | sasm
75° | 01305 | o9ss | o3z | }300° | oz000 | oseeo 520° | 05880 | 06157 | 1vee || 745° | 09636 | 02672 | 30059
52.5° | 07934 | 0.60ss | 13032 | [ 75.0° | 09650 | 02588 | aram
80° | 01362 | 09003 | o105 || 305° | 05075 | 08616 | 0.5890
85° | 01478 | oosoo | oatos || 3100 | osse | osstr | o.go09 53.0° | 07986 | oeois | oispro | [ 7as0 | osest | oosne | aseer
00° | 01564 | 09877 | v1sss || 3150 | osmms | osses | o619 53.5° | 0.8030 | 0505 | 13514 || 760° | 09703 | o410 | 40108
9.5° | 01650 | 09863 | 01673 ||320° | 05200 | os4s0 | 06240 G400 | 08090 | 05878 | LS4 || 7657 | 06724 | 02331 | 41653
10.0° | 01736 | 09838 | 00763 ||325° | 05373 | 08434 | 06371 54571 08K | 03807 | L4010 || 7707 | 0.0744 | 02250 | 43315
55.0° | 08192 | 05736 | 1481 ||77.5° | os763 | 02164 | 45107
105° | 01822 | 05833 | 01833 |[33.0° | 05446 | 03387 | 0.6191 . o ) _
1.0° | 01908 | 09816 | 0.944 ||335° | 05519 | 05339 | 0.6619 sa.50 | O.8241 TEQT | OOreL 00790 47016
115° | 01994 | 0.9793 | 02035 |]340°| 05502 | 05200 | 0.6745 i6.0° | 08290 TS| 00799 | 00904 | L9152
120° | 02079 | 09781 | 02126 ||343° | 05664 | 08241 | 0.6873 56.57 | 0.8339 7907 | 09816 | 0.0908 | 51446
125° | 02161 | 09763 | 02217 [|35.0° | 05736 | 08192 | 0.7002 57.0° | 08387 | 05446 7057 | 09833 | 01822 | 5.3955
57.5° | 08431 | 0.5373 80.0° | 0.9848 | 01736 | 56713
130° | 02250 | 09741 | 02300 ||355° | 05807 | 08141 | 07133 . o . .
13.3° | 02331 | 09724 | o200 | 3607 | 05878 | 0.8000 | 0.7265 N R T S [ Diosy: | G1G0) | mITHS
140° | o2418 | ooros | o203 []365° | osms | ososn | o.7400 68.6° | 0.8626 | 0.5225 SLO% | 09577 | 01364 | 6.3138
1457 | 02504 | 00681 | 02386 ||37.0° | 06018 | 07986 | 0.7336 ol B SLE [ bosod | Dldra. | 6912
150° | o288 | 09650 | e2ere || 3750 | ocoss | 07934 | 07673 b 1 10800y 52.0° | 0.950a ¢ bAd02 [ 71154
60.0° | 0.8660 5257 | 09914 | 0805 | 75058
15.5° | 02672 | esess | 02773 | fase | oeisr | oasso | oogsis ; _ . )
160° ] o2mse | ooc1a | ooser |{ssse| nezs | orsie | ogens 605" | 08701 | 04024 83.0° | 09025 | 00219 | 81433
1657 | 02810 | oosss | 02962 | 39.0° | 06203 | 09771 | 0.8008 SLO" | 0.8746. | 0.4848 83.5" | 00986 | 0.1132 | 8.7769
17.0° | 02021 | 00363 | 03057 |[305° | oesct | 05T | 0s243 61.5° | 08785 | 04772 SLO” [ 00043 | 0.1M5 | 9.5144
17.5° | 0.3007 | 00537 | 0m33 | [400° | 06128 | 07660 | 0.830 620 | 0.8820 | 04605 815 | 09964 | 0.0958 | 1038
‘ 62.5° | 08870 | 0.4617 85.0° | 09962 | 00872 | 11430
1600 | 03000 | 00511 | o3240 | |105° | 06104 | 07604 | 0.8541 ‘ ,
18.5° 00453 | 03346 || 41.0° | 06561 | 07347 | 0.8603 63.0° 1 0.8910 | 04540 | 8357 09969 | 0.0785 12,706
10.0° 09133 | o334z | |1z | ocens 0.8847 635" | 08049 | o462 | 86.0° | 0.0976 | 0.0008 | 14.301
193 0.9126 | 0.3541 1207 | 06691 0.9001 64.0° | 0.8088 | 04388 | 20503 || €6.5° | 09981 | 0.0610 | 16.330
0 vassr | dsean | laaze| oda 0.5163 645° | 00026 | 0305 | 20065 || 87.0° | 00086 | 00523 | 19081
i 65.0° 0.9063 0.4226 2.1445 87.5° 0.9990 0.0436 22,904
20.5° | 03502 | 00367 | 05738 || 430° | 06820 | o7 | 09325
21.0° | 03554 | 00335 | 03839 ||435° | ocsss | 07254 | 09490 65.5° | 0.0100 | 0417 | 20903 | [s8.0° | 009994 | 0.0340 | 28636
215° | 03665 | 0.930¢ | 03939 1107 | 06997 | 07193 | 0.9657 66.0° | 09135 | 04067 | 22460 8857 | 0.9997 | 0.0262 | 38.188
220° | O3T6 | 00272 | 04040 || 443 | 07009 | 07135 | 09827 665" | 09171 | 03987 | 22068 || €9.0° | 00998 | 00175 | 57.290
2257 | oaser | oo23n | 04142 || 4500 | orort | omom | 10000 67.0° | 09205 | 03007 | 23550 ||s05°| 10000 | 00087 | 11459
675° | 09239 | oaser | 2442 | le00”| vaeeoo | sooon | —— -
Square and Square Root Table
7 - s Your opinions
1 1 1.6OGO
2 1 1.4142
3 £ 1.7321
4 16 2.0000
5 25 2.2361
G 36 2.4195
il 49 2.6458
3 61 2.8281
9 81| 3.0000
10 100 3.1623
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